Exercises

1 Make one sentence from two. Use the sentence in brackets to make a relative clause (Type 2).
You will need to use who(m)/whose/which/where.

1 Catherine is very Eriend (She lives next door.)

] ]ohn is one of my closest friends. (I have known him for a very long time.)
=1 c QO ——————————————————————————

6 Sheila is away from home a lot. (Her job involves a lot of travelling.)

7 The new stadium w1ll be opened next month. (It can hold 90,000 people.)

8 Glasgow is the Iargest city in Scotland. (My brother lives there.)

-2 Read the information and complete each sentence. Use a relative clause of Type 1 or Type 2.
Use commas where necessary.

1 There’s a woman living next door to me. She’s a doctor.
The woman .. Who_lives next door to me is a doctor,

2 D've got a brother called Rob. He lives in Australia. He’s a doctor.
3 There was a strike at the car factory. It began ten days ago. It is now over.

The strike at the CAr FACLOTY ..ot
4 I was looking for a book this morning. I’ve found it now.

IPVE FOUNM ettt
5 London was once the largest city in the world, but the population is now falling.

The population Of LOMAON ...ttt
6 A job was advertised. A lot of people applied for it. Few of them had the necessary qualifications.

ITEAPTBE ettt R T S S B
7 Amy has a son. She showed me a photograph of him. He’s a policeman.

AMY SHOWEA ME e

3 Correct the sentences that are wrong and put in commas where necessary. If the sentence is
correct, write 'OK.

1 Colin told me about his Mhe s enjoying very much.
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5 The doctor that examined me couldn’t find anything wrong.
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